\w\v« vvf\}q\\\ov\ : SQS&\D\A 5

Sep. 16,2013
5 (oo Lor D¥Vt — 0

w4 |
)

=> F (o] &\«Y’“‘““'-\ ol lae ] =0

w

=7 F (wn) () 3, (men) (e ) 2= 0

— 5> m T 4w ~\:z - W T‘ 1 N“:z
o (e \ ™ (er\™ Y (et \4'2 (\er 12
_P\ ?L —‘?\ ’?}_ /Z_

= >3\Q¥?ZT\>\—‘<?L p N \/\/\F\> — \/\\?\ 4“42?2

—<S W= éi/:? 4(\41?2\2 — wab\t\\eﬁl qvwﬁ,z
=MD = /Ws\cwtm( o\uml;\ow

Uoder w = () &-—l -
N )

T J(\n

T (e (e

W\&\( cq\\m& ‘P\f\t& \/O\Ck\\\\‘\ \‘\(
%QM. S\(‘MX&X\(: Q,\AQQSQ \Qo‘f\g(bk‘w VIA\L\ MD=wm
'\-o \'\WQ 0 Uiy \we,wz_qb\ F‘\:\/(.‘r) ~\o \92 Lu Ve X (‘QOV Q c?NLﬁH ‘N‘«U—Q Qg “)

Cowlx: ™ \\/
‘Q ( >\X\ + (\“/\>Xz) S >\‘P(¥u)+“—)‘) ~Q(\(z)

T W he Lo




‘\\'\ ouvy Ceofe -

T
Y ¥ 1 A W -~
9;\\(/1( ) — \'\S\MW\;\V au-| l\\.&\.)w " Zﬂ'FI(LWHi(,WMf)‘)J (\&r)
- >0 >0
—> (V,VN\V{V RV VY
TO SwV\W\u‘\;\EQ'I \'\"& Wk “""““V“‘\quc\\w CO\AB\‘\\'\O\A& ave
(\\ T\:\/: C d\r \40\;\%0\4\/\/\
Q) 22 - O o MD=wm
JYX
(3) x\/("\ CouRYX mvouwo\ \&\.L\/o\v\)( 's
N\ Q-?/\A/ \?)W\W\LS’.
C_ .
‘aﬂf'\ Casly S((ows < (Hv\)(
M‘lﬁv("w durekion MD = L i_ | (\-w)(_'\— @E>
) =\ (\-w\‘ P OY

C_ A .
' %o\r (Q)I\/QL-C_O(AFOM boud . FF é\ o — (—\::)v‘ { C~Q~F
m = |

-~

v X ‘:"v\— %z“‘t‘()\(l-t*r)‘q__\>-\/\
% (5 )= =7 g
X -k*\&(\vr)-l)J((\.gr)
e (lev) ([ ) dur r-c)

CY((\J«\“-\) + ¢ ¢

Vokq\-}\i)d(

MD =




1.& 3\»\ FRGP\-QS
‘(\dﬂ\ shed ke %3&91\;04\‘ le,\PQV\b\C“% 04 wo\\-uv'\xc%/ g\ak&

(Vsuqu\(: Lou%eﬂ Q_OV«W“\—M«Q\A)t = 7 WMo i%MS*)

—> called "lom bl
Y({L& Covl ¢ '\"Y\WU Q& CrvRS !

el . =l Yy,

}\ e Vo /Y\ t\w
. {64

>wul«i\\v K

SYJQ\— W\( S(‘\\ = \(h&é\ ‘\'0 V"\%\\rv‘:\\\( J( \vaxoéx A0 ~ (DUApOU \00\«0{

.
/P - (= Q(ﬂ“ => S\mx w‘x& Conve = W~ Loupon boud Y'\&\O\ CunR

\A—Q«\\*N‘ '?\7\&'1 &0‘( CRA/@\-COU\)ov\ \ootAO\S (%\V&/\ ‘Su\« \”’\"\s‘\Axss” US Xr\rtl!l&w\( ]oov\d ~)-o
oo, S > :
X e -\
? — Z + \ d (§ ).': ( \* S (‘L'ﬂ CQ(({(}\ d‘\SCow)r %\(‘.Xw

= s (s

Y= T de+dnF cslled, “shadic spread"
~\ A -
\’ws\a\( dords droddl e m\m‘;w - erlace (PENTED L\/ (\ (3/+ S )



Towad Rades:

Com s n %Q/vo~csoU\>oV\ \DOMA\S: 0
S = Fv. =P $)

\\ ‘

\ :
> > > TV = P+ Sq)!
(\a‘&)

TV = P4 S (1 S(a;b)?""‘

S(\a'\\'-: (5 ‘\\*;Q»;\Oé\ S*‘pu\ \rot\& \ \912/\;\0&& y\ww Mow Q\/\A‘\(Mowv\ >

Q'\M«\‘;\lfu{\ &(wwvo\ \:«LXQ -Q(iq) = gr&ss ~Qo~( g(t,@ \ocweoq oV

(4 g(@\i: (\«SL‘Q)" L1+ 3‘((\3))3\‘
\

=" Sq(‘\\\\:ﬁ“*sm) ) ’/l

(e S@y)




